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If you need an explanation for this, please ask and we can make a video to explain it or you can log in for live lesson.
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MudtipAnying Ay 10 - prokhlem soAiring and

/r,e,a/s,om/t/ng.
Zainab and Kay have bought sweets for a party. \A/,e /+1/a./\f2, /LQ/CL/Y‘/I’I. /t
ahbout commuiatine

Zainab says,
| bought more because | &%%%% Aaw AO WL Anomw
have 10 lots of 45 sweets. &&&‘& 45 |O |O 45
2.8 = 2.3 5

$SSSS g | bought more because | L
SSS % have 45 lots of 10 sweets. H T O
A 5
Who has bought the most? Prove it. — —

Theny hoith hanve Athe same amount.
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Probhdem solnving - mudti

Dylan is going to order some rulers in boxes of 100.
There arupils in the whole school.

| need to order
13 boxes.

Is Dylan correct? Explain your answer.

Anima by 100

13 hoxes and Ahere are

00 in a Ahox.

I3 x 100 =?
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There are mnot ,e/n,O/uQ/h ruders
Am 13 hoxes. He needs b hoxes.




